

**FRACTIONAL HERMITE-HADAMARD INEQUALITIES FOR  
TWICE DIFFERENTIABLE GEOMETRIC-ARITHMETICALLY  
 $s$ -CONVEX FUNCTIONS**

SAJID IQBAL, MUHAMMAD AAMIR, MUHAMMAD SAMRAIZ, ARTION KASHURI,  
MUHAMMAD ASIF

ABSTRACT. The main objective of this paper is to study the classical Hermite-Hadamard-type inequalities for Riemann-Liouville fractional integrals. The Hermite-Hadamard inequalities are derived for  $k$ -Riemann-Liouville fractional integrals by using the definitions of different types of convex functions such as  $s$ -convex function,  $m$ -convex function,  $(s, m)$ -convex function and twice differentiable geometric-arithmetically  $s$ -convex function. Our results generalize the results of [8] and [18].

1. INTRODUCTION

In literature inequalities are very important for convex functions defined by C. Hermite and J. Hadamard (see, e.g., [12, p.137]). These inequalities define that if  $\Psi : I \rightarrow \mathbb{R}$  is a convex on the interval  $I$  of real numbers and  $\theta, \zeta \in I$  with  $\theta < \zeta$ , then

$$\Psi\left(\frac{\theta + \zeta}{2}\right) \leq \frac{1}{\zeta - \theta} \int_{\theta}^{\zeta} \Psi(\xi) d\xi \leq \frac{\Psi(\theta) + \Psi(\zeta)}{2}.$$

In last few years the theory of Hermite-Hadamard inequalities progress very fast (see [1], [9], [10], [15], [16], [17]). We note that Hadamard's inequality has attracted a lot number of researchers in last few decades (see, for example [7], [13], [18]). In continuation of the development of Hadamard's inequality we produce Hadamard's inequalities for  $k$ -Riemann-Liouville fractional integral by using the definition of different convex functions of fractional calculus.

**Definition 1.1.**  $\Psi : [\theta, \zeta] \rightarrow \mathbb{R}$  is said to be convex if the inequality holds on an interval  $\Psi \subseteq \mathbb{R}$  if

$$\Psi(\tau\xi + (1 - \tau)\eta) \leq \tau\Psi(\xi) + (1 - \tau)\Psi(\eta) \quad (1.1)$$

holds for  $\xi, \eta \in [\theta, \zeta]$  and  $\tau \in [0, 1]$ .

Following definition is given in [18].

---

2010 *Mathematics Subject Classification.* 26D15, 26D10, 26A33, 34B27.

*Key words and phrases.* convex function, Hermite-Hadamard inequalities, fractional integrals.

©2020 Ilirias Research Institute, Prishtinë, Kosovë.

Submitted April 12, 2020. Published July 17, 2020.

Communicated by guest Editor Wei Gao.

**Definition 1.2.** The function  $\Psi : [0, \zeta^*] \rightarrow \mathbb{R}$  is  $m$ -convex, where  $m \in [0, 1]$  and  $\zeta^* > 0$ , if for every  $\xi, \eta \in [0, \zeta^*]$  and  $\mu \in [0, 1]$ , we have

$$\Psi(\mu\xi + m(1-\mu)\eta) \leq \mu\Psi(\xi) + m(1-\mu)\Psi(\eta). \quad (1.2)$$

Following definition is given in [18].

**Definition 1.3.** The function  $\Psi : [0, \zeta^*] \rightarrow \mathbb{R}$  is  $(s, m)$ -convex, where  $(s, m) \in [0, 1]^2$  and  $\zeta^* > 0$ , if for every  $\xi, \eta \in [0, \zeta^*]$  and  $\mu \in [0, 1]$ , we have

$$\Psi(\mu\xi + m(1-\mu)\eta) \leq \mu^s\Psi(\xi) + m(1-\mu^s)\Psi(\eta). \quad (1.3)$$

Following definition is given in [6]

**Definition 1.4.** Let  $\Psi \in L_1[\theta, \zeta]$ . The Riemann-Liouville integrals  $I_{\theta^+}^\lambda \Psi$  and  $I_{\zeta^-}^\lambda \Psi$  of order  $\lambda > 0$  with  $\theta \geq 0$  are stated by

$$I_{\theta^+}^\lambda \Psi(\xi) = \frac{1}{\Gamma(\lambda)} \int_{\theta}^{\xi} (\xi - \mu)^{\lambda-1} \Psi(\mu) d\mu, \quad \xi > \theta$$

and

$$I_{\zeta^-}^\lambda \Psi(\xi) = \frac{1}{\Gamma(\lambda)} \int_{\xi}^{\zeta} (\mu - \xi)^{\lambda-1} \Psi(\mu) d\mu, \quad \xi < \zeta$$

respectively. At this spot  $\Gamma(\lambda)$  is the Gamma function and  $I_{\theta^+}^0 \Psi = I_{\zeta^-}^0 \Psi = \Psi(\xi)$ . For some current outcomes, (see [14]).

**Definition 1.5.** [8] Let  $\Psi : I \subset \mathbb{R}^+ \rightarrow \mathbb{R}^+$  and  $s \in (0, 1]$ . A function  $\Psi(\xi)$  is geometric-arithmetically  $s$ -convex function on  $I$  if for every  $\xi, \eta \in I$  and  $\mu \in [0, 1]$ , we have

$$\Psi(\xi^\mu \eta^{1-\mu}) \leq \mu^s(\Psi(\xi)) + (1-\mu)^s \Psi(\eta). \quad (1.4)$$

**Lemma 1.6.** [8] For  $\mu \in [0, 1]$ ,  $\xi, \eta > 0$ , we have

$$\mu\xi + (1-\mu)\eta \geq \eta^{1-\mu} \xi^\mu.$$

**Lemma 1.7.** [3] For  $\mu \in [0, 1]$ , we have

$$(1-\mu)^\chi \leq 2^{1-\chi} - \mu^\chi \quad \chi \in [0, 1],$$

$$(1-\mu)^\chi \geq 2^{1-\chi} - \mu^\chi \quad \chi \in [1, \infty],$$

**Definition 1.8.** [4] The definition of incomplete beta function is given as:

$$\beta_\xi(\theta, \zeta) = \int_0^\xi \mu^{\theta-1} (1-\mu)^{\zeta-1} d\mu, \quad (1.5)$$

where  $\xi \in [0, 1]$ ,  $\theta, \zeta > 0$ .

**Theorem 1.9.** [8] Let  $\Psi : [\theta, \zeta] \rightarrow \mathbb{R}$  be differentiable. If  $|\Psi''|$  is measurable and  $|\Psi''|$  is decreasing and geometric-arithmetically  $s$ -convex on  $[\theta, \zeta]$  for some fixed  $\lambda \in (0, \infty)$ ,  $s \in (0, 1]$ ,  $0 \leq \theta < \zeta$ , then

$$\begin{aligned} & \left| \frac{\Psi(\theta) + \Psi(\zeta)}{2} - \frac{\Gamma(\lambda+1)}{2(\zeta-\theta)^\lambda} \left[ I_{\theta^+}^\lambda \Psi(\zeta) + I_{\zeta^-}^\lambda \Psi(\theta) \right] \right| \\ & \leq \frac{(\zeta-\theta)^2 (|\Psi''(\theta)| + |\Psi''(\zeta)|)}{2(\lambda+1)} \left( \frac{1}{s+1} - \frac{1}{\lambda+s+2} \right). \end{aligned} \quad (1.6)$$

**Theorem 1.10.** [8] Consider  $\Psi : [\theta, \zeta] \rightarrow \mathbb{R}$  a differentiable. If  $|\Psi''|^h$  is measurable and  $|\Psi''|^h$  is decreasing and geometric-arithmetically  $s$ -convex on  $[\theta, \zeta]$  for some fixed  $\lambda \in (0, \infty)$ ,  $s \in (0, 1]$ ,  $0 \leq \theta < \zeta$ , then

$$\begin{aligned} & \left| \frac{\Psi(\theta) + \Psi(\zeta)}{2} - \frac{\Gamma(\lambda + 1)}{2(\zeta - \theta)^\lambda} \left[ I_{\theta^+}^\lambda \Psi(\zeta) + I_{\zeta^-}^\lambda \Psi(\theta) \right] \right| \\ & \leq \frac{(\zeta - \theta)^2 \max\{1 - 2^{1-\lambda}, 2^{1-\lambda} - 1\}}{2(\lambda + 1)} \left( \frac{|\Psi''(\theta)|^h + |\Psi''(\zeta)|^h}{s + 1} \right)^{\frac{1}{h}}. \end{aligned} \quad (1.7)$$

The following lemma is given in [19].

**Lemma 1.11.** Assume that  $\Psi : [\theta, \zeta] \rightarrow \mathbb{R}$  is twice differentiable on  $(\theta, \zeta)$  with  $\theta < \zeta$ . If  $\Psi'' \in L[\theta, \zeta]$ , then

$$\begin{aligned} & \frac{\Gamma(\lambda + 1)}{2(\zeta - \theta)^\lambda} \left[ I_{\theta^+}^\lambda \Psi(\zeta) + I_{\zeta^-}^\lambda \Psi(\theta) \right] - \Psi \left( \frac{\theta + \zeta}{2} \right) \\ & = \frac{(\zeta - \theta)^2}{2} \int_0^1 m(\mu) \Psi''(\mu\theta + (1 - \mu)\zeta) d\mu, \end{aligned} \quad (1.8)$$

where

$$m(\mu) = \begin{cases} \mu - \frac{1 - (1 - \mu)^{\lambda+1} - \mu^{\lambda+1}}{(\lambda+1)}, & \mu \in [0, \frac{1}{2}] \\ (1 - \mu) - \frac{1 - (1 - \mu)^{\lambda+1} - \mu^{\lambda+1}}{(\lambda+1)}, & \mu \in [\frac{1}{2}, 1]. \end{cases}$$

The following theorem is given in [8].

**Theorem 1.12.** Let  $\Psi : [0, \zeta] \rightarrow \mathbb{R}$  be differentiable.  $|\Psi''|^h$  is measurable and  $1 < h < \infty$ . If  $|\Psi''|^h$  is measurable and  $|\Psi''|^h$  is decreasing and geometric-arithmetically  $s$ -convex on  $[0, \zeta]$  for some fixed  $\lambda \in (0, \infty)$ ,  $s \in (0, 1]$ ,  $1 \leq \theta < \zeta$ , then

$$\begin{aligned} & \frac{\Gamma(\lambda + 1)}{2(\zeta - \theta)^\lambda} \left[ I_{\theta^+}^\lambda \Psi(\zeta) + I_{\zeta^-}^\lambda \Psi(\theta) \right] - \Psi \left( \frac{\theta + \zeta}{2} \right) \\ & \leq \frac{(\zeta - \theta)^2}{2(\lambda + 1)} \left( \frac{|\Psi''(\theta)|^h + |\Psi''(\zeta)|^h}{s + 1} \right)^{\frac{1}{h}} \\ & \times \left( \frac{(\lambda + 1)2^{-g-1} + (\lambda + 0.5)^{g+1} - \lambda^{g+1}}{g + 1} \right)^{\frac{1}{g}}, \end{aligned} \quad (1.9)$$

where  $\frac{1}{g} + \frac{1}{h} = 1$

The following theorem is given in [18].

**Theorem 1.13.** Consider  $\Psi : [0, \zeta^*] \rightarrow \mathbb{R}$  a twice differentiable with  $\zeta^* > 0$ . If  $|\Psi''|^h$  is measurable and  $m$ -convex on  $[\theta, \frac{\zeta}{m}]$  for some fixed  $h \geq 1$ ,  $0 \leq \theta < \zeta$  and  $m \in (0, 1]$  with  $\frac{\zeta}{m} \leq \zeta^*$ , with then

$$\begin{aligned} & \left| \frac{\Psi(\theta) + \Psi(\zeta)}{2} - \frac{\Gamma(\lambda + 1)}{2(\zeta - \theta)^\lambda} \left[ I_{\theta^+}^\lambda \Psi(\zeta) + I_{\zeta^-}^\lambda \Psi(\theta) \right] \right| \\ & \leq \frac{\lambda(\zeta - \theta)^2}{2(\lambda + 1)(\lambda + 2)} \left[ \frac{|\Psi''(\theta)|^h + m|\Psi''(\frac{\zeta}{m})|^h}{2} \right]^{\frac{1}{h}} \end{aligned} \quad (1.10)$$

The following theorem is given in [18].

**Theorem 1.14.** *Let the condition of Theorem 1.13, be satisfied, then following inequality holds*

$$\begin{aligned} & \left| \frac{\Psi(\theta) + \Psi(\zeta)}{2} - \frac{\Gamma(\lambda + 1)}{2(\zeta - \theta)^\lambda} \left[ I_{\theta^+}^\lambda \Psi(\zeta) + I_{\zeta^-}^\lambda \Psi(\theta) \right] \right| \\ & \leq \frac{(\zeta - \theta)^2}{2(\lambda + 1)} \left( 1 - \frac{2}{g(\lambda + 1) + 1} \right)^{\frac{1}{g}} \left[ \frac{|\Psi''(\theta)|^h + m|\Psi''(\frac{\zeta}{m})|^h}{2} \right]^{\frac{1}{h}}, \quad (1.11) \end{aligned}$$

where  $\frac{1}{g} + \frac{1}{h} = 1$

**Theorem 1.15.** [18] *Assume that  $\Psi : [\theta, \zeta] \rightarrow \mathbb{R}$  is a twice differentiable mapping with  $\theta < \zeta$ . If  $|\Psi''|^h$  is measurable and  $(s, m)$ -convex on  $[\theta, \zeta]$  for some fixed  $h \geq 1$  and  $(s, m) \in (0, 1]^2$ , then*

$$\begin{aligned} & \left| \frac{\Psi(\theta) + \Psi(m\zeta)}{2} - \frac{\Gamma(\lambda + 1)}{2(\zeta - \theta)^\lambda} \left[ I_{\theta^+}^\lambda \Psi(m\zeta) + I_{m\zeta^-}^\lambda \Psi(\theta) \right] \right| \\ & \leq \frac{(m\zeta - \theta)^2}{2(\lambda + 1)} \left( 1 - \frac{2}{g(\lambda + 1) + 1} \right)^{\frac{1}{g}} \left( |\Psi''(\theta)|^h \frac{1}{s+1} + |\Psi''(\zeta)|^h \frac{s}{s+1} \right)^{\frac{1}{h}}, \quad (1.12) \end{aligned}$$

where  $\frac{1}{g} + \frac{1}{h} = 1$ .

**Theorem 1.16.** [18] *All is same as in Theorem 1.15, then the inequality holds*

$$\begin{aligned} & \left| \frac{\Psi(\theta) + \Psi(m\zeta)}{2} - \frac{\Gamma(\lambda + 1)}{2(m\zeta - \theta)^\lambda} \left[ I_{\theta^+}^\lambda \Psi(m\zeta) + I_{m\zeta^-}^\lambda \Psi(\theta) \right] \right| \\ & \leq \frac{(m\zeta - \theta)^2}{2(\lambda + 1)} \left[ |\Psi''(\theta)|^h \left( \frac{1}{s+1} - \beta(s+1, h(\lambda+1) + 1) - \frac{1}{h(\lambda+1) + s+1} \right) \right. \\ & + m|\Psi''(\zeta)|^h \left( 1 - \frac{1}{s+1} - \frac{2}{(h(\lambda+1) + 1)} + \beta(s+1, h(\lambda+1) + 1) \right. \\ & \left. \left. + \frac{1}{h(\lambda+1) + s+1} \right) \right]^{\frac{1}{h}}. \quad (1.13) \end{aligned}$$

The following lemma is given in [5].

**Lemma 1.17.** *Let  $k > 0$ ,  $I_{\theta^+, k}^\lambda \Psi$  and  $I_{\zeta^-, k}^\lambda \Psi$  be defined in Definition 2.1. Let  $\Psi : [\theta, \zeta] \rightarrow \mathbb{R}$  be a differentiable mapping on  $(\theta, \zeta)$  with  $\theta < \zeta$ . If  $\Psi' \in L[\theta, \zeta]$ , then*

$$\begin{aligned} & \left| \frac{\Psi(\theta) + \Psi(\zeta)}{2} - \frac{\Gamma_k(\lambda + k)}{2(\zeta - \theta)^{\frac{\lambda}{k}}} \left[ I_{\theta^+, k}^\lambda \Psi(\zeta) + I_{\zeta^-, k}^\lambda \Psi(\theta) \right] \right| \\ & = \frac{(\zeta - \theta)}{2} \int_0^1 \left[ (1 - \mu)^{\frac{\lambda}{k}} - \mu^{\frac{\lambda}{k}} \right] \Psi'(\mu\theta + (1 - \mu)\zeta) d\mu. \quad (1.14) \end{aligned}$$

## 2. HERMITE-HADAMARD INEQUALITIES FOR TWICE DIFFERENTIABLE GEOMETRIC-ARITHMETICALLY $s$ -CONVEX FUNCTION

**Definition 2.1.** *Let  $\Psi \in L_1[\theta, \zeta]$ . The  $k$ -Riemann-Liouville integrals  $I_{\theta^+, k}^\lambda \Psi$  and  $I_{\zeta^-, k}^\lambda \Psi$  of order  $\lambda > 0$  and  $k > 0$  with  $\theta \geq 0$  are defined by*

$$I_{\theta^+, k}^\lambda \Psi(\xi) = \frac{1}{\Gamma_k(\lambda)} \int_\theta^\xi (\xi - \mu)^{\frac{\lambda}{k} - 1} \Psi(\mu) d\mu, \quad \xi > \theta$$

and

$$I_{\zeta^-,k}^\lambda \Psi(\xi) = \frac{1}{\Gamma_k(\lambda)} \int_{\xi}^{\zeta} (\mu - \xi)^{\frac{\lambda}{k}-1} \Psi(\mu) d\mu, \quad \xi < \zeta,$$

respectively. Here  $\Gamma_k(\lambda)$  is the Gamma function and  $I_{\theta^+,k}^0 \Psi = I_{\zeta^-,k}^0 \Psi = \Psi(\xi)$ .

**Lemma 2.2.** Let  $k > 0$ ,  $I_{\theta^+,k}^\lambda \Psi$  and  $I_{\zeta^-,k}^\lambda \Psi$  be defined in Definition 2.1. Let  $\Psi : [\theta, \zeta] \rightarrow \mathbb{R}$  be twice differentiable on  $(\theta, \zeta)$  with  $\theta < \zeta$ . If  $\Psi'' \in L[\theta, \zeta]$ , then

$$\begin{aligned} & \frac{\Psi(\theta) + \Psi(\zeta)}{2} - \frac{\Gamma_k(\lambda + k)}{2(\zeta - \theta)^{\frac{\lambda}{k}}} \left[ I_{\theta^+,k}^\lambda \Psi(\zeta) + I_{\zeta^-,k}^\lambda \Psi(\theta) \right] \\ &= \frac{(\zeta - \theta)^2}{2} \int_0^1 \frac{1 - (1 - \mu)^{\frac{\lambda}{k}+1} - \mu^{\frac{\lambda}{k}+1}}{\frac{\lambda}{k} + 1} \Psi''(\mu\theta + (1 - \mu)\zeta) d\mu. \end{aligned} \quad (2.1)$$

*Proof.* We take Lemma 1.17, i.e.

$$\begin{aligned} & \frac{\Psi(\theta) + \Psi(\zeta)}{2} - \frac{\Gamma_k(\lambda + k)}{2(\zeta - \theta)^{\frac{\lambda}{k}}} \left[ I_{\theta^+,k}^\lambda \Psi(\zeta) + I_{\zeta^-,k}^\lambda \Psi(\theta) \right] \\ &= \frac{\zeta - \theta}{2} \int_0^1 [(1 - \mu)^{\frac{\lambda}{k}} - \mu^{\frac{\lambda}{k}}] \Psi'(\mu\theta + (1 - \mu)\zeta) d\mu. \end{aligned} \quad (2.2)$$

Now let us call

$$\begin{aligned} I &= \int_0^1 [(1 - \mu)^{\frac{\lambda}{k}} - \mu^{\frac{\lambda}{k}}] \Psi'(\mu\theta + (1 - \mu)\zeta) d\mu \\ &= \int_0^1 (1 - \mu)^{\frac{\lambda}{k}} \Psi'(\mu\theta + (1 - \mu)\zeta) d\mu - \int_0^1 \mu^{\frac{\lambda}{k}} \Psi'(\mu\theta + (1 - \mu)\zeta) d\mu. \end{aligned} \quad (2.3)$$

Integrating the integral  $I$  by parts, then we obtain

$$\begin{aligned} I &= -\frac{(1 - \mu)^{\frac{\lambda}{k}+1}}{\frac{\lambda}{k} + 1} \Psi'(\mu\theta + (1 - \mu)\zeta) \Big|_0^1 + \int_0^1 \frac{\mu^{\frac{\lambda}{k}+1}}{\frac{\lambda}{k} + 1} \Psi''(\mu\theta + (1 - \mu)\zeta) (\theta - \zeta) d\mu \\ &\quad - \frac{\mu^{\frac{\lambda}{k}+1}}{\frac{\lambda}{k} + 1} \Psi'(\mu\theta + (1 - \mu)\zeta) \Big|_0^1 + \int_0^1 \frac{\mu^{\frac{\lambda}{k}+1}}{\frac{\lambda}{k} + 1} \Psi''(\mu\theta + (1 - \mu)\zeta) (\theta - \zeta) d\mu \\ &= \frac{\Psi'(\zeta)}{\frac{\lambda}{k} + 1} - \frac{\zeta - \theta}{\frac{\lambda}{k} + 1} \int_0^1 (1 - \mu)^{\frac{\lambda}{k}+1} \Psi''(\mu\theta + (1 - \mu)\zeta) d\mu \\ &\quad - \frac{\Psi'(\theta)}{\frac{\lambda}{k} + 1} - \frac{\zeta - \theta}{\frac{\lambda}{k} + 1} \int_0^1 \mu^{\frac{\lambda}{k}+1} \Psi''(\mu\theta + (1 - \mu)\zeta) d\mu \\ &= \frac{\Psi'(\zeta) - \Psi'(\theta)}{\frac{\lambda}{k} + 1} - \frac{\zeta - \theta}{\frac{\lambda}{k} + 1} \int_0^1 [(1 - \mu)^{\frac{\lambda}{k}} - \mu^{\frac{\lambda}{k}}] \Psi''(\mu\theta + (1 - \mu)\zeta) d\mu, \end{aligned} \quad (2.4)$$

and

$$\Psi'(\zeta) - \Psi'(\theta) = \int_{\theta}^{\zeta} \Psi''(\xi) d\xi = (\zeta - \theta) \int_0^1 \Psi''(\mu\theta + (1 - \mu)\zeta) d\mu. \quad (2.5)$$

Submitting (2.5) to (2.4), we obtain

$$I = \frac{(\zeta - \theta) \int_0^1 \Psi''(\mu\theta + (1 - \mu)\zeta) d\mu}{\frac{\lambda}{k} + 1} - \frac{\zeta - \theta}{\frac{\lambda}{k} + 1} \int_0^1 [(1 - \mu)^{\frac{\lambda}{k} + 1} + \mu^{\frac{\lambda}{k} + 1}] \Psi''(\mu\theta + (1 - \mu)\zeta) d\mu.$$

This implies that

$$\begin{aligned} & \int_0^1 [(1 - \mu)^{\frac{\lambda}{k} + 1} + \mu^{\frac{\lambda}{k} + 1}] \Psi'(\mu\theta + (1 - \mu)\zeta) d\mu \\ &= (\zeta - \theta) \int_0^1 \frac{1 - (1 - \mu)^{\frac{\lambda}{k} + 1} - \mu^{\frac{\lambda}{k} + 1}}{\frac{\lambda}{k} + 1} \Psi''(\mu\theta + (1 - \mu)\zeta) d\mu \end{aligned} \quad (2.6)$$

Multiplying  $\frac{\zeta - \theta}{2}$  on both sides of equality (2.6), we get

$$\frac{\zeta - \theta}{2} \int_0^1 [(1 - \mu)^{\frac{\lambda}{k} + 1} + \mu^{\frac{\lambda}{k} + 1}] \Psi'(\mu\theta + (1 - \mu)\zeta) d\mu \quad (2.7)$$

$$= \frac{(\zeta - \theta)^2}{2} \int_0^1 \frac{1 - (1 - \mu)^{\frac{\lambda}{k} + 1} - \mu^{\frac{\lambda}{k} + 1}}{\frac{\lambda}{k} + 1} \Psi''(\mu\theta + (1 - \mu)\zeta) d\mu \quad (2.8)$$

Comparing (2.8) with (2.2), we get

$$\begin{aligned} & \frac{\Psi(\theta) + \Psi(\zeta)}{2} - \frac{\Gamma_k(\lambda + k)}{2(\zeta - \theta)^{\frac{\lambda}{k}}} \left[ I_{\theta^+, k}^{\lambda} \Psi(\zeta) + I_{\zeta^-, k}^{\lambda} \Psi(\theta) \right] \\ &= \frac{(\zeta - \theta)^2}{2} \int_0^1 \frac{1 - (1 - \mu)^{\frac{\lambda}{k} + 1} - \mu^{\frac{\lambda}{k} + 1}}{\frac{\lambda}{k} + 1} \Psi''(\mu\theta + (1 - \mu)\zeta) d\mu. \end{aligned}$$

Hence the required result is proved.  $\square$

**Theorem 2.3.** Let  $k > 0$ ,  $I_{\theta^+, k}^{\lambda} \Psi$  and  $I_{\zeta^-, k}^{\lambda} \Psi$  be defined in Definition 2.1. Let  $\Psi : [\theta, \zeta] \rightarrow \mathbb{R}$  be a differentiable function. If  $|\Psi''|$  is measurable and  $|\Psi''|$  is decreasing and geometric-arithmetically  $s$ -convex on  $[\theta, \zeta]$  for some fixed  $\lambda \in (0, \infty)$ ,  $s \in (0, 1]$   $0 \leq \theta < \zeta$ , then

$$\begin{aligned} & \left| \frac{\Psi(\theta) + \Psi(\zeta)}{2} - \frac{\Gamma_k(\lambda + k)}{2(\zeta - \theta)^{\frac{\lambda}{k}}} \left[ I_{\theta^+, k}^{\lambda} \Psi(\zeta) + I_{\zeta^-, k}^{\lambda} \Psi(\theta) \right] \right| \\ & \leq \frac{(\zeta - \theta)^2 (|\Psi''(\theta)| + |\Psi''(\zeta)|)}{2(\frac{\lambda}{k} + 1)} \left( \frac{1}{s + 1} - \frac{1}{\frac{\lambda}{k} + s + 2} \right). \end{aligned}$$

*Proof.* By using Definition 1.5, Lemma 1.6 and Lemma 2.2, we have

$$\begin{aligned}
 & \left| \frac{\Psi(\theta) + \Psi(\zeta)}{2} - \frac{\Gamma_k(\lambda + k)}{2(\zeta - \theta)^{\frac{\lambda}{k}}} \left[ I_{\theta^+, k}^\lambda \Psi(\zeta) + I_{\zeta^-, k}^\lambda \Psi(\theta) \right] \right| \\
 & \leq \frac{(\zeta - \theta)^2}{2} \int_0^1 \left| \frac{1 - (1 - \mu)^{\frac{\lambda}{k} + 1} - \mu^{\frac{\lambda}{k} + 1}}{\frac{\lambda}{k} + 1} \right| |\Psi''(\mu\theta + (1 - \mu)\zeta)| d\mu \\
 & = \frac{(\zeta - \theta)^2}{2\left(\frac{\lambda}{k} + 1\right)} \int_0^1 (1 - (1 - \mu)^{\frac{\lambda}{k} + 1} - \mu^{\frac{\lambda}{k} + 1}) |\Psi''(\mu\theta + (1 - \mu)\zeta)| d\mu \\
 & \leq \frac{(\zeta - \theta)^2}{2\left(\frac{\lambda}{k} + 1\right)} \int_0^1 (1 - (1 - \mu)^{\frac{\lambda}{k} + 1} - \mu^{\frac{\lambda}{k} + 1}) |\Psi''(\theta^\mu \zeta^{1-\mu})| d\mu \\
 & \leq \frac{(\zeta - \theta)^2}{2\left(\frac{\lambda}{k} + 1\right)} \int_0^1 (1 - (1 - \mu)^{\frac{\lambda}{k} + 1} - \mu^{\frac{\lambda}{k} + 1}) [\mu^s |\Psi''(\theta)| + (1 - \mu)^s |\Psi''(\zeta)|] d\mu \\
 & = \frac{(\zeta - \theta)^2}{2\left(\frac{\lambda}{k} + 1\right)} \left[ \int_0^1 [\mu^s |\Psi''(\theta)| + (1 - \mu)^s |\Psi''(\zeta)|] d\mu - \int_0^1 [\mu^s (1 - \mu)^{\frac{\lambda}{k} + 1} |\Psi''(\theta)| \right. \\
 & \quad \left. + (1 - \mu)^{\frac{\lambda}{k} + s + 1} |\Psi''(\zeta)|] d\mu - \int_0^1 [\mu^{\frac{\lambda}{k} + s + 1} |\Psi''(\theta)| + \mu^{\frac{\lambda}{k} + 1} (1 - \mu)^s |\Psi''(\zeta)|] d\mu \right].
 \end{aligned}$$

By using the definition of beta function, then we have

$$\begin{aligned}
 & \left| \frac{\Psi(\theta) + \Psi(\zeta)}{2} - \frac{\Gamma_k(\lambda + k)}{2(\zeta - \theta)^{\frac{\lambda}{k}}} \left[ I_{\theta^+, k}^\lambda \Psi(\zeta) + I_{\zeta^-, k}^\lambda \Psi(\theta) \right] \right| \\
 & \leq \frac{(\zeta - \theta)^2}{2} \int_0^1 \left| \frac{1 - (1 - \mu)^{\frac{\lambda}{k} + 1} - \mu^{\frac{\lambda}{k} + 1}}{\frac{\lambda}{k} + 1} \right| |\Psi''(\mu\theta + (1 - \mu)\zeta)| d\mu \\
 & \leq \frac{(\zeta - \theta)^2 |\Psi''(\theta)|}{2\left(\frac{\lambda}{k} + 1\right)(s + 1)} + \frac{(\zeta - \theta)^2 |\Psi''(\zeta)|}{2\left(\frac{\lambda}{k} + 1\right)(s + 1)} - \frac{(\zeta - \theta)^2 |\Psi''(\theta)|}{2\left(\frac{\lambda}{k} + 1\right)\left(\frac{\lambda}{k} + s + 2\right)} - \frac{(\zeta - \theta)^2 |\Psi''(\zeta)|}{2\left(\frac{\lambda}{k} + 1\right)(s + 1)} \\
 & \quad \beta\left(s + 1, \frac{\lambda}{k} + 2\right) - \frac{(\zeta - \theta)^2 |\Psi''(\theta)|}{2\left(\frac{\lambda}{k} + 1\right)} \beta\left(s + 1, \frac{\lambda}{k} + 2\right) - \frac{(\zeta - \theta)^2 |\Psi''(\zeta)|}{2\left(\frac{\lambda}{k} + 1\right)\left(\frac{\lambda}{k} + s + 2\right)} \\
 & \leq \frac{(\zeta - \theta)^2 (|\Psi''(\theta)| + |\Psi''(\zeta)|)}{2\left(\frac{\lambda}{k} + 1\right)} \left( \frac{1}{s + 1} - \frac{1}{\frac{\lambda}{k} + s + 2} \right).
 \end{aligned}$$

It implies that

$$\begin{aligned}
 & \left| \frac{\Psi(\theta) + \Psi(\zeta)}{2} - \frac{\Gamma_k(\lambda + k)}{2(\zeta - \theta)^{\frac{\lambda}{k}}} \left[ I_{\theta^+, k}^\lambda \Psi(\zeta) + I_{\zeta^-, k}^\lambda \Psi(\theta) \right] \right| \\
 & \leq \frac{(\zeta - \theta)^2 (|\Psi''(\theta)| + |\Psi''(\zeta)|)}{2\left(\frac{\lambda}{k} + 1\right)} \left( \frac{1}{s + 1} - \frac{1}{\frac{\lambda}{k} + s + 2} \right).
 \end{aligned}$$

So the required proof is completed.  $\square$

**Theorem 2.4.** *Let  $k > 0$ ,  $I_{\theta^+,k}^\lambda \Psi$  and  $I_{\zeta^-,k}^\lambda$  be defined in Definition 2.1. Let  $\Psi : [\theta, \zeta] \rightarrow \mathbb{R}$  be differentiable. If  $|\Psi''|^h$  is measurable and  $|\Psi''|^h$  is decreasing and geometric-arithmetically  $s$ -convex on  $[\theta, \zeta]$  for some fixed  $\lambda \in (0, \infty)$ ,  $s \in (0, 1]$   $0 \leq \theta < \zeta$ , then*

$$\begin{aligned} & \left| \frac{\Psi(\theta) + \Psi(\zeta)}{2} - \frac{\Gamma_k(\lambda + k)}{2(\zeta - \theta)^{\frac{\lambda}{k}}} \left[ I_{\theta^+,k}^\lambda \Psi(\zeta) + I_{\zeta^-,k}^\lambda \Psi(\theta) \right] \right| \\ & \leq \frac{(\zeta - \theta)^2 \max\{1 - 2^{1-\frac{\lambda}{k}}, 2^{1-\frac{\lambda}{k}} - 1\}}{2(\frac{\lambda}{k} + 1)} \left( \frac{|\Psi''(\theta)|^h + |\Psi''(\zeta)|^h}{s + 1} \right)^{\frac{1}{h}}. \end{aligned}$$

*Proof.* We shall solve it in two cases for our aim.

Case 1:  $\lambda \in (0, 1)$ , using Holder's inequality, Definition 1.5, Lemma 1.6, Lemma 1.7 and Lemma 2.2, we have

$$\begin{aligned} & \left| \frac{\Psi(\theta) + \Psi(\zeta)}{2} - \frac{\Gamma_k(\lambda + k)}{2(\zeta - \theta)^{\frac{\lambda}{k}}} \left[ I_{\theta^+,k}^\lambda \Psi(\zeta) + I_{\zeta^-,k}^\lambda \Psi(\theta) \right] \right| \\ & \leq \frac{(\zeta - \theta)^2}{2} \int_0^1 \left| \frac{1 - (1 - \mu)^{\frac{\lambda}{k} + 1} - \mu^{\frac{\lambda}{k} + 1}}{\frac{\lambda}{k} + 1} \right| |\Psi''(\mu\theta + (1 - \mu)\zeta)| d\mu \\ & \leq \frac{(\zeta - \theta)^2}{2(\frac{\lambda}{k} + 1)} \left( \int_0^1 \left| 1 - (1 - \mu)^{\frac{\lambda}{k} + 1} - \mu^{\frac{\lambda}{k} + 1} \right|^g d\mu \right)^{\frac{1}{g}} \left( \int_0^1 |\Psi''(\mu\theta + (1 - \mu)\zeta)|^h d\mu \right)^{\frac{1}{h}} \\ & \leq \frac{(\zeta - \theta)^2}{2(\frac{\lambda}{k})} \left( \int_0^1 \left| 1 - (1 - \mu)^{\frac{\lambda}{k}} - \mu^{\frac{\lambda}{k}} \right|^g d\mu \right)^{\frac{1}{g}} \left( \int_0^1 |\Psi''\theta^\mu \zeta^{1-\mu}|^h d\mu \right)^{\frac{1}{h}} \\ & \leq \frac{(\zeta - \theta)^2}{2(\frac{\lambda}{k} + 1)} \left( \int_0^1 \left| 1 - (1 - \mu)^{\frac{\lambda}{k} + 1} - \mu^{\frac{\lambda}{k}} \right|^g d\mu \right)^{\frac{1}{g}} \left( \int_0^1 [\mu^s |\Psi''(\theta)|^h + (1 - \mu)^s |\Psi''(\zeta)|^h] d\mu \right)^{\frac{1}{h}} \\ & = \frac{(\zeta - \theta)^2}{2(\frac{\lambda}{k} + 1)} \left( \frac{|\Psi''(\theta)|^h}{s + 1} + \frac{|\Psi''(\zeta)|^h}{s + 1} \right)^{\frac{1}{h}} \left( \int_0^1 [(1 - \mu)^{\frac{\lambda}{k} + 1} - \mu^{\frac{\lambda}{k}} - 1]^g d\mu \right)^{\frac{1}{g}} \\ & \leq \frac{(\zeta - \theta)^2}{2(\frac{\lambda}{k} + 1)} \left( \frac{|\Psi''(\theta)|^h + |\Psi''(\zeta)|^h}{s + 1} \right)^{\frac{1}{h}} \left( \int_0^1 (2^{1-\frac{\lambda}{k}} - 1)^g d\mu \right)^{\frac{1}{g}} \\ & = \frac{(\zeta - \theta)^2}{2(\frac{\lambda}{k} + 1)} \left( \frac{|\Psi''(\theta)|^h + |\Psi''(\zeta)|^h}{s + 1} \right)^{\frac{1}{h}} (2^{1-\frac{\lambda}{k}} - 1), \tag{2.9} \end{aligned}$$

where  $\frac{1}{g} + \frac{1}{h} = 1$

Case 2:  $\lambda \in [1, \infty)$ . By using the Definition 1.5, Lemma 1.6, Lemma 1.7, Holder's



inequality and Lemma 2.2, we have

$$\begin{aligned}
 & \left| \frac{\Psi(\theta) + \Psi(\zeta)}{2} - \frac{\Gamma_k(\lambda + k)}{2(\zeta - \theta)^{\frac{\lambda}{k}}} \left[ I_{\theta^+, k}^\lambda \Psi(\zeta) + I_{\zeta^-, k}^\lambda \Psi(\theta) \right] \right| \\
 & \leq \frac{(\zeta - \theta)^2}{2\left(\frac{\lambda}{k} + 1\right)} \left( \frac{|\Psi''(\theta)|^h + |\Psi''(\zeta)|^h}{s + 1} \right)^{\frac{1}{h}} \left( \int_0^1 (1 - 2^{1-\frac{\lambda}{k}})^g d\mu \right)^{\frac{1}{g}} \\
 & = \frac{(\zeta - \theta)^2}{2\left(\frac{\lambda}{k} + 1\right)} \left( \frac{|\Psi''(\theta)|^h + |\Psi''(\zeta)|^h}{s + 1} \right)^{\frac{1}{h}} \left( 1 - 2^{1-\frac{\lambda}{k}} \right). \tag{2.10}
 \end{aligned}$$

Now from (2.9) and (2.10), we obtain the required result.  $\square$

**Lemma 2.5.** *Let  $k > 0$ ,  $I_{\theta^+, k}^\lambda \Psi$  and  $I_{\zeta^-, k}^\lambda \Psi$  be defined in Definition 2.1. Let  $\Psi : [\theta, \zeta] \rightarrow \mathbb{R}$  be twice differentiable on  $(\theta, \zeta)$  with  $\theta < \zeta$ . If  $\Psi'' \in L[\theta, \zeta]$ , then*

$$\begin{aligned}
 & \frac{\Gamma_k(\lambda + k)}{2(\zeta - \theta)^{\frac{\lambda}{k}}} \left[ I_{\theta^+, k}^\lambda \Psi(\zeta) + I_{\zeta^-, k}^\lambda \Psi(\theta) \right] - \Psi \left( \frac{\theta + \zeta}{2} \right) \\
 & = \frac{(\zeta - \theta)^2}{2} \int_0^1 m(\mu) \Psi''(\mu\theta + (1 - \mu)\zeta) d\mu, \tag{2.11}
 \end{aligned}$$

where

$$m(\mu) = \begin{cases} \mu - \frac{1 - (1 - \mu)^{\frac{\lambda}{k} + 1} - \mu^{\frac{\lambda}{k} + 1}}{\left(\frac{\lambda}{k} + 1\right)}, & \mu \in [0, \frac{1}{2}), \\ (1 - \mu) - \frac{1 - (1 - \mu)^{\frac{\lambda}{k} + 1} - \mu^{\frac{\lambda}{k} + 1}}{\left(\frac{\lambda}{k} + 1\right)}, & \mu \in [\frac{1}{2}, 1). \end{cases}$$

*Proof.* we have

$$\begin{aligned}
 & \frac{\Gamma_k(\lambda + k)}{2(\zeta - \theta)^{\frac{\lambda}{k}}} \left[ I_{\theta^+, k}^\lambda \Psi(\zeta) + I_{\zeta^-, k}^\lambda \Psi(\theta) \right] - \Psi \left( \frac{\theta + \zeta}{2} \right) \\
 & = \frac{(\zeta - \theta)^2}{2} \int_0^1 m(\mu) \Psi''(\mu\theta + (1 - \mu)\zeta) d\mu \tag{2.12} \\
 & = \int_0^{\frac{1}{2}} \left( \mu - \frac{1 - (1 - \mu)^{\frac{\lambda}{k} + 1} - \mu^{\frac{\lambda}{k} + 1}}{\frac{\lambda}{k} + 1} \right) \Psi''(\mu\theta + (1 - \mu)\zeta) d\mu \\
 & \quad + \int_{\frac{1}{2}}^1 \left( 1 - \mu - \frac{1 - (1 - \mu)^{\frac{\lambda}{k} + 1} - \mu^{\frac{\lambda}{k} + 1}}{\frac{\lambda}{k} + 1} \right) \Psi''(\mu\theta + (1 - \mu)\zeta) d\mu \\
 & = \int_0^{\frac{1}{2}} \mu \Psi''(\mu\theta + (1 - \mu)\zeta) d\mu - \int_0^{\frac{1}{2}} \left( \frac{1 - (1 - \mu)^{\frac{\lambda}{k} + 1} - \mu^{\frac{\lambda}{k} + 1}}{\frac{\lambda}{k} + 1} \right) \Psi''(\mu\theta + (1 - \mu)\zeta) d\mu \\
 & \quad + \int_{\frac{1}{2}}^1 (1 - \mu) \Psi''(\mu\theta + (1 - \mu)\zeta) d\mu + \int_{\frac{1}{2}}^1 \left( \frac{1 - (1 - \mu)^{\frac{\lambda}{k} + 1} - \mu^{\frac{\lambda}{k} + 1}}{\frac{\lambda}{k} + 1} \right) \Psi''(\mu\theta + (1 - \mu)\zeta) d\mu
 \end{aligned}$$

$$\begin{aligned}
&= \int_0^{\frac{1}{2}} \mu \Psi''(\mu\theta + (1-\mu)\zeta) d\mu + \int_{\frac{1}{2}}^1 (1-\mu) \Psi''(\mu\theta + (1-\mu)\zeta) d\mu \\
&\quad - \int_0^1 \left( \frac{1 - (1-\mu)^{\frac{\lambda}{k}+1} - \mu^{\frac{\lambda}{k}+1}}{\frac{\lambda}{k} + 1} \right) \Psi''(\mu\theta + (1-\mu)\zeta) d\mu. \quad (2.13)
\end{aligned}$$

Let us say that

$$I = \int_0^{\frac{1}{2}} \mu \Psi''(\mu\theta + (1-\mu)\zeta) d\mu + \int_{\frac{1}{2}}^1 (1-\mu) \Psi''(\mu\theta + (1-\mu)\zeta) d\mu. \quad (2.14)$$

Now we take

$$I_1 = \int_0^{\frac{1}{2}} \mu \Psi''(\mu\theta + (1-\mu)\zeta) d\mu.$$

Integrating the integral  $I_1$  by parts, we get

$$I_1 = \frac{\Psi'(\frac{\theta+\zeta}{2})}{2(\theta-\zeta)} - \frac{[\Psi(\frac{\theta+\zeta}{2}) - \Psi(\zeta)]}{(\theta-\zeta)^2}. \quad (2.15)$$

Similarly, we say that

$$I_2 = \int_{\frac{1}{2}}^1 (1-\mu) \Psi''(\mu\theta + (1-\mu)\zeta) d\mu,$$

again integrating the integral  $I_2$  by parts, we get

$$I_2 = -\frac{\Psi'(\frac{\theta+\zeta}{2})}{2(\theta-\zeta)} + \frac{[-\Psi(\frac{\theta+\zeta}{2}) + \Psi(\theta)]}{(\theta-\zeta)^2}. \quad (2.16)$$

Submitting (2.15) and (2.16) to (2.14), it holds

$$I = \frac{\Psi(\theta) + \Psi(\zeta)}{(\zeta-\theta)^2} - \frac{2\Psi\left(\frac{\theta+\zeta}{2}\right)}{(\zeta-\theta)^2}. \quad (2.17)$$

Thus by multiplying both sides of (2.12) by  $\frac{(\zeta-\theta)^2}{2}$ , we have

$$\begin{aligned}
&\frac{(\zeta-\theta)^2}{2} \int_0^1 m(\mu) \Psi''(\mu\theta + (1-\mu)\zeta) d\mu \\
&= \frac{\Psi(\theta) + \Psi(\zeta)}{2} - \Psi\left(\frac{\theta+\zeta}{2}\right) \\
&\quad - \frac{(\zeta-\theta)^2}{2} \int_0^1 \left( \frac{1 - (1-\mu)^{\frac{\lambda}{k}+1} - \mu^{\frac{\lambda}{k}+1}}{\frac{\lambda}{k} + 1} \right) \Psi''(\mu\theta + (1-\mu)\zeta) d\mu. \quad (2.18)
\end{aligned}$$

On the other hand, we have

$$\begin{aligned} & \frac{(\zeta - \theta)^2}{2} \int_0^1 \left( \frac{1 - (1 - \mu)^{\frac{\lambda}{k} + 1} - \mu^{\frac{\lambda}{k} + 1}}{\frac{\lambda}{k} + 1} \right) \Psi''(\mu\theta + (1 - \mu)\zeta) d\mu \\ &= \frac{\Psi(\theta) + \Psi(\zeta)}{2} - \frac{\Gamma_k(\lambda + k)}{2(\zeta - \theta)^{\frac{\lambda}{k}}} \left[ I_{\theta^+, k}^\lambda \Psi(\zeta) + I_{\zeta^-, k}^\lambda \Psi(\theta) \right]. \end{aligned} \quad (2.19)$$

So combining (2.18) and (2.19), we obtain (2.11)

$$\begin{aligned} & \frac{\Gamma_k(\lambda + k)}{2(\zeta - \theta)^{\frac{\lambda}{k}}} \left[ I_{\theta^+, k}^\lambda \Psi(\zeta) + I_{\zeta^-, k}^\lambda \Psi(\theta) \right] - \Psi \left( \frac{\theta + \zeta}{2} \right) \\ &= \frac{(\zeta - \theta)^2}{2} \int_0^1 m(\mu) \Psi''(\mu\theta + (1 - \mu)\zeta) d\mu. \end{aligned}$$

Hence proved.  $\square$

**Theorem 2.6.** Let  $k > 0$ ,  $I_{\theta^+, k}^\lambda \Psi$  and  $I_{\zeta^-, k}^\lambda \Psi$  be defined in the Definition 2.1. Let  $\Psi : [0, \zeta] \rightarrow \mathbb{R}$  be differentiable function.  $|\Psi''|$  is measurable and  $1 < h < \infty$ . If  $|\Psi''|^h$  is measurable and  $|\Psi''|$  is decreasing and geometric-arithmetically  $s$ -convex on  $[0, \zeta]$  for some fixed  $\lambda \in (0, \infty)$ ,  $s \in (0, 1]$   $1 \leq \theta < \zeta$  then

$$\begin{aligned} & \frac{\Gamma_k(\lambda + k)}{2(\zeta - \theta)^{\frac{\lambda}{k}}} \left[ I_{\theta^+, k}^\lambda \Psi(\zeta) + I_{\zeta^-, k}^\lambda \Psi(\theta) \right] - \Psi \left( \frac{\theta + \zeta}{2} \right) \\ & \leq \frac{(\zeta - \theta)^2}{2 \left( \frac{\lambda}{k} + 1 \right)} \left( \frac{|\Psi''(\theta)|^h + |\Psi''(\zeta)|^h}{s + 1} \right) \left( \frac{\left( \frac{\lambda}{k} + 1 \right) 2^{-g-1} + \left( \frac{\lambda}{k} + 0.5 \right)^{g+1} - \left( \frac{\lambda}{k} \right)^{g+1}}{g + 1} \right)^{\frac{1}{g}}, \end{aligned}$$

where  $\frac{1}{g} + \frac{1}{h} = 1$ .

*Proof.* By using Holder's inequality, Lemma 1.6, Definition 1.5 and Lemma 2.5, we have

$$\begin{aligned} & \frac{\Gamma_k(\lambda + k)}{2(\zeta - \theta)^{\frac{\lambda}{k}}} \left[ I_{\theta^+, k}^\lambda \Psi(\zeta) + I_{\zeta^-, k}^\lambda \Psi(\theta) \right] - \Psi \left( \frac{\theta + \zeta}{2} \right) \\ & \leq \frac{(\zeta - \theta)^2}{2} \int_0^1 m(\mu) \Psi''(\mu\theta + (1 - \mu)\zeta) d\mu \\ & \leq \frac{(\zeta - \theta)^2}{2} \left( \int_0^1 |m(\mu)|^g d\mu \right)^{\frac{1}{g}} \left( \int_0^1 |\Psi''(\mu\theta + (1 - \mu)\zeta)|^h d\mu \right)^{\frac{1}{h}} \\ & \leq \frac{(\zeta - \theta)^2}{2} \left( \int_0^1 |m(\mu)|^g d\mu \right)^{\frac{1}{g}} \left( \int_0^1 |\Psi''(\theta^\mu \zeta^{1-\mu})|^h d\mu \right)^{\frac{1}{h}} \end{aligned}$$

$$\begin{aligned}
&\leq \frac{(\zeta - \theta)^2}{2} \left( \int_0^1 |m(\mu)|^g d\mu \right)^{\frac{1}{g}} \left( \int [\mu^s |\Psi''(\theta)|^h + (1 - \mu)^s |\Psi''(\zeta)|^h] d\mu \right)^{\frac{1}{h}} \\
&= \frac{(\zeta - \theta)^2}{2} \left( \int_0^1 |m(\mu)|^g d\mu \right)^{\frac{1}{g}} \left( \frac{|\Psi''(\theta)|^h + |\Psi''(\zeta)|^h}{s+1} \right)^{\frac{1}{h}} \\
&= \frac{(\zeta - \theta)^2}{2} \left( \frac{|\Psi''(\theta)|^h + |\Psi''(\zeta)|^h}{s+1} \right)^{\frac{1}{h}} \left[ \left( \int_0^{\frac{1}{2}} \left| \mu - \frac{1 - (1 - \mu)^{\frac{\lambda}{k} + 1} - \mu^{\frac{\lambda}{k} + 1}}{\frac{\lambda}{k} + 1} \right|^g d\mu \right)^{\frac{1}{g}} \right. \\
&\quad \left. + \left( \int_{\frac{1}{2}}^1 \left| 1 - \mu - \frac{1 - (1 - \mu)^{\frac{\lambda}{k} + 1} - \mu^{\frac{\lambda}{k} + 1}}{\frac{\lambda}{k} + 1} \right|^g d\mu \right)^{\frac{1}{g}} \right] \\
&= \frac{(\zeta - \theta)^2}{2 \left( \frac{\lambda}{k} + 1 \right)} \left( \frac{|\Psi''(\theta)|^h + |\Psi''(\zeta)|^h}{s+1} \right)^{\frac{1}{h}} \left[ \left( \int_0^{\frac{1}{2}} \left| \left( \frac{\lambda}{k} + 1 \right) \mu - 1 - (1 - \mu)^{\frac{\lambda}{k} + 1} - \mu^{\frac{\lambda}{k} + 1} \right|^g d\mu \right)^{\frac{1}{g}} \right. \\
&\quad \left. + \left( \int_{\frac{1}{2}}^1 \left| \left( \frac{\lambda}{k} + 1 \right) \mu - 1 - (1 - \mu)^{\frac{\lambda}{k} + 1} - \mu^{\frac{\lambda}{k} + 1} \right|^g d\mu \right)^{\frac{1}{g}} \right] \\
&= \frac{(\zeta - \theta)^2}{2 \left( \frac{\lambda}{k} + 1 \right)} \left( \frac{|\Psi''(\theta)|^h + |\Psi''(\zeta)|^h}{s+1} \right)^{\frac{1}{h}} \left( \int_0^{\frac{1}{2}} \left( \frac{\lambda}{k} + 1 \right) \mu^g d\mu + \int_{\frac{1}{2}}^1 \left( \frac{\lambda}{k} - \mu + 1 \right)^g d\mu \right)^{\frac{1}{g}} \\
&= \frac{(\zeta - \theta)^2}{2 \left( \frac{\lambda}{k} + 1 \right)} \left( \frac{|\Psi''(\theta)|^h + |\Psi''(\zeta)|^h}{s+1} \right)^{\frac{1}{h}} \left( \left( \frac{\lambda}{k} + 1 \right) \frac{\mu^{g+1}}{g+1} \Big|_0^{\frac{1}{2}} - \frac{\left( \frac{\lambda}{k} - \mu + 1 \right)^{g+1}}{g+1} \Big|_{\frac{1}{2}}^1 \right)^{\frac{1}{g}} \\
&= \frac{(\zeta - \theta)^2}{2 \left( \frac{\lambda}{k} + 1 \right)} \left( \frac{|\Psi''(\theta)|^h + |\Psi''(\zeta)|^h}{s+1} \right)^{\frac{1}{h}} \left( \frac{\left( \frac{\lambda}{k} + 1 \right) (0.5)^{g+1}}{g+1} - \frac{\left( \frac{\lambda}{k} \right)^{g+1}}{g+1} + \frac{\left( \frac{\lambda}{k} + 0.5 \right)^{g+1}}{g+1} \right)^{\frac{1}{g}} \\
&= \frac{(\zeta - \theta)^2}{2 \left( \frac{\lambda}{k} + 1 \right)} \left( \frac{|\Psi''(\theta)|^h + |\Psi''(\zeta)|^h}{s+1} \right)^{\frac{1}{h}} \left( \frac{\left( \frac{\lambda}{k} + 1 \right) 2^{-g-1} - \left( \frac{\lambda}{k} \right)^{g+1} + \left( \frac{\lambda}{k} + 0.5 \right)^{g+1}}{g+1} \right)^{\frac{1}{g}}.
\end{aligned}$$

This implies that

$$\begin{aligned}
&\frac{\Gamma_k(\lambda + k)}{2(\zeta - \theta)^{\frac{\lambda}{k}}} \left[ I_{\theta^+, k}^\lambda \Psi(\zeta) + I_{\zeta^-, k}^\lambda \Psi(\theta) \right] - \Psi \left( \frac{\theta + \zeta}{2} \right) \\
&\leq \frac{(\zeta - \theta)^2}{2 \left( \frac{\lambda}{k} + 1 \right)} \left( \frac{|\Psi''(\theta)|^h + |\Psi''(\zeta)|^h}{s+1} \right) \left( \frac{\left( \frac{\lambda}{k} + 1 \right) 2^{-g-1} + \left( \frac{\lambda}{k} + 0.5 \right)^{g+1} - \left( \frac{\lambda}{k} \right)^{g+1}}{g+1} \right)^{\frac{1}{g}}.
\end{aligned}$$

This is required result.  $\square$

3. HERMITE-HADAMARD-TYPE INEQUALITIES FOR  $m$  CONVEX FUNCTIONS

**Theorem 3.1.** Let  $k > 0$ ,  $I_{\theta^+,k}^\lambda \Psi$  and  $I_{\zeta^-,k}^\lambda \Psi$  be defined in Definition 2.1. Let  $\Psi : [0, \zeta^*] \rightarrow \mathbb{R}$  be a twice differentiable function with  $\zeta^* > 0$ . If  $|\Psi''|^h$  is measurable and  $m$ -convex on  $[\theta, \frac{\zeta}{m}]$  for some fixed  $h \geq 1$ ,  $0 \leq \theta < \zeta$  and  $m \in (0, 1]$  with  $\frac{\zeta}{m} \leq \zeta^*$ , then

$$\begin{aligned} & \left| \frac{\Psi(\theta) + \Psi(\zeta)}{2} - \frac{\Gamma_k(\lambda + k)}{2(\zeta - \theta)^{\frac{\lambda}{k}}} \left[ I_{\theta^+,k}^\lambda \Psi(\zeta) + I_{\zeta^-,k}^\lambda \Psi(\theta) \right] \right| \\ & \leq \frac{\frac{\lambda}{k}(\zeta - \theta)^2}{2 \left( \frac{\lambda}{k} + 1 \right) \left( \frac{\lambda}{k} + 2 \right)} \left[ \frac{|\Psi''(\theta)|^h + m|\Psi''(\frac{\zeta}{m})|^h}{2} \right]^{\frac{1}{h}}. \end{aligned}$$

*Proof.* Firstly, we suppose that  $h = 1$ . From Lemma 2.2, we have

$$\begin{aligned} & \left| \frac{\Psi(\theta) + \Psi(\zeta)}{2} - \frac{\Gamma_k(\lambda + k)}{2(\zeta - \theta)^{\frac{\lambda}{k}}} \left[ I_{\theta^+,k}^\lambda \Psi(\zeta) + I_{\zeta^-,k}^\lambda \Psi(\theta) \right] \right| \\ & \leq \frac{(\zeta - \theta)^2}{2} \int_0^1 \frac{1 - (1 - \mu)^{\frac{\lambda}{k}+1} - \mu^{\frac{\lambda}{k}+1}}{\frac{\lambda}{k} + 1} |\Psi''(\mu\theta + (1 - \mu)\zeta)| d\mu, \quad (3.1) \end{aligned}$$

because  $(1 - \mu)^{\frac{\lambda}{k}+1} + \mu^{\frac{\lambda}{k}+1} \leq 1$  for any  $\mu \in [\theta, \zeta]$ . Since  $|\Psi''|$  is  $m$ -convex on  $[\theta, \frac{\zeta}{m}]$ , we know that for any  $\mu \in [0, 1]$ ,

$$|\Psi''(\mu\theta + (1 - \mu)\zeta)| \leq \mu|\Psi''(\theta)| + m(1 - \mu)|\Psi''(\frac{\zeta}{m})|.$$

Therefore,

$$\begin{aligned} & \left| \frac{\Psi(\theta) + \Psi(\zeta)}{2} - \frac{\Gamma_k(\lambda + k)}{2(\zeta - \theta)^{\frac{\lambda}{k}}} \left[ I_{\theta^+,k}^\lambda \Psi(\zeta) + I_{\zeta^-,k}^\lambda \Psi(\theta) \right] \right| \\ & \leq \frac{(\zeta - \theta)^2}{2} \int_0^1 \frac{1 - (1 - \mu)^{\frac{\lambda}{k}+1} - \mu^{\frac{\lambda}{k}+1}}{\frac{\lambda}{k} + 1} \left( \mu|\Psi''(\theta)| + m(1 - \mu)|\Psi''(\frac{\zeta}{m})| \right) d\mu \\ & \leq \frac{(\zeta - \theta)^2 |\Psi''(\theta)|}{2 \left( \frac{\lambda}{k} + 1 \right)} \int_0^1 \mu \left[ 1 - (1 - \mu)^{\frac{\lambda}{k}+1} - \mu^{\frac{\lambda}{k}+1} \right] d\mu \\ & \quad + \frac{m(\zeta - \theta)^2 |\Psi''(\frac{\zeta}{m})|}{2 \left( \frac{\lambda}{k} + 1 \right)} \int_0^1 (1 - \mu) \left[ 1 - (1 - \mu)^{\frac{\lambda}{k}+1} - \mu^{\frac{\lambda}{k}+1} \right] d\mu \end{aligned}$$

$$\begin{aligned}
&= \frac{(\zeta - \theta)^2 |\Psi''(\theta)|}{2 \left(\frac{\lambda}{k} + 1\right)} \left[ \int_0^1 \mu d\mu - \int_0^1 \mu(1 - \mu)^{\frac{\lambda}{k}+1} - \int_0^1 \mu^{\frac{\lambda}{k}+2} \right] \\
&\quad + \frac{m(\zeta - \theta)^2 |\Psi''(\frac{\zeta}{m})|}{2 \left(\frac{\lambda}{k} + 1\right)} \left[ \int_0^1 (1 - \mu) d\mu - \int_0^1 (1 - \mu)^{\frac{\lambda}{k}+2} d\mu \int_0^1 \mu^{\frac{\lambda}{k}+1} d\mu + \int_0^1 \mu^{\frac{\lambda}{k}+2} d\mu \right] \\
&= \frac{(\zeta - \theta)^2 |\Psi''(\theta)|}{2 \left(\frac{\lambda}{k} + 1\right)} \left[ \int_0^1 \mu d\mu - \int_0^1 (1 - 1 + \mu)(1 - \mu)^{\frac{\lambda}{k}+1} - \int_0^1 \mu^{\frac{\lambda}{k}+2} \right] \\
&\quad + \frac{m(\zeta - \theta)^2 |\Psi''(\frac{\zeta}{m})|}{2 \left(\frac{\lambda}{k} + 1\right)} \left[ \int_0^1 (1 - \mu) d\mu - \int_0^1 (1 - \mu)^{\frac{\lambda}{k}+2} d\mu \int_0^1 \mu^{\frac{\lambda}{k}+1} d\mu + \int_0^1 \mu^{\frac{\lambda}{k}+2} d\mu \right] \\
&= \frac{(\zeta - \theta)^2 |\Psi''(\theta)|}{2 \left(\frac{\lambda}{k} + 1\right)} \left[ \int_0^1 \mu d\mu + \int_0^1 (1 - \mu)^{\frac{\lambda}{k}+2} - \int_0^1 (1 - \mu)^{\frac{\lambda}{k}+1} \int_0^1 \mu^{\frac{\lambda}{k}+2} \right] \\
&\quad + \frac{m(\zeta - \theta)^2 |\Psi''(\frac{\zeta}{m})|}{2 \left(\frac{\lambda}{k} + 1\right)} \left[ \int_0^1 (1 - \mu) d\mu - \int_0^1 (1 - \mu)^{\frac{\lambda}{k}+2} d\mu \int_0^1 \mu^{\frac{\lambda}{k}+1} d\mu + \int_0^1 \mu^{\frac{\lambda}{k}+2} d\mu \right] \\
&= \frac{(\zeta - \theta)^2 |\Psi''(\theta)|}{2 \left(\frac{\lambda}{k} + 1\right)} \left[ \frac{1}{2} - \frac{1}{\frac{\lambda}{k} + 3} - \frac{1}{\frac{\lambda}{k} + 2} + \frac{1}{\frac{\lambda}{k} + 3} \right] \\
&\quad + \frac{m(\zeta - \theta)^2 |\Psi''(\frac{\zeta}{m})|}{2 \left(\frac{\lambda}{k} + 1\right)} \left[ \frac{1}{2} - \frac{1}{\frac{\lambda}{k} + 3} - \frac{1}{\frac{\lambda}{k} + 2} + \frac{1}{\frac{\lambda}{k} + 3} \right] \\
&= \frac{(\zeta - \theta)^2 |\Psi''(\theta)|}{2 \left(\frac{\lambda}{k} + 1\right)} \left[ \frac{\frac{\lambda}{k}}{2 \left(\frac{\lambda}{k} + 2\right)} \right] + \frac{m(\zeta - \theta)^2 |\Psi''(\frac{\zeta}{m})|}{2 \left(\frac{\lambda}{k} + 1\right)} \left[ \frac{\frac{\lambda}{k}}{2 \left(\frac{\lambda}{k} + 2\right)} \right] \\
&= \frac{\frac{\lambda}{k}(\zeta - \theta)^2}{2 \left(\frac{\lambda}{k} + 1\right) \left(\frac{\lambda}{k} + 2\right)} \left[ \frac{|\Psi''(\theta)| + m|\Psi''(\frac{\zeta}{m})|}{2} \right],
\end{aligned}$$

which complete the proof for this case.

Secondly, we suppose that  $h > 1$ . Using Lemma 2.2 and power mean inequality for  $h$ , we obtain

$$\begin{aligned}
&\int_0^1 \left(1 - (1 - \mu)^{\frac{\lambda}{k}+1} - \mu^{\frac{\lambda}{k}+1}\right) |\Psi''(\mu\theta + (1 - \mu)\zeta)| d\mu \\
&\leq \left( \int_0^1 \left(1 - (1 - \mu)^{\frac{\lambda}{k}+1} - \mu^{\frac{\lambda}{k}+1}\right) d\mu \right)^{1 - \frac{1}{h}} \\
&\quad \times \left( \int_0^1 \left(1 - (1 - \mu)^{\frac{\lambda}{k}+1} - \mu^{\frac{\lambda}{k}+1}\right) |\Psi''(\mu\theta + (1 - \mu)\zeta)|^h d\mu \right)^{\frac{1}{h}}. \quad (3.2)
\end{aligned}$$

Since  $|\Psi''|$  is  $m$ -convex on  $[\theta, \frac{\zeta}{m}]$ , for any  $\mu \in [0, 1]$

$$|\Psi''(\mu\theta + (1 - \mu)\zeta)|^h \leq \mu|\Psi''(\theta)|^h + m(1 - \mu)|\Psi''(\frac{\zeta}{m})|^h. \tag{3.3}$$

Hence from (3.1), (3.2) and (3.3), we obtain

$$\begin{aligned} & \left| \frac{\Psi(\theta) + \Psi(\zeta)}{2} - \frac{\Gamma_k(\lambda + k)}{2(\zeta - \theta)^{\frac{\lambda}{k}}} \left[ I_{\theta^+, k}^\lambda \Psi(\zeta) + I_{\zeta^-, k}^\lambda \Psi(\theta) \right] \right| \\ & \leq \frac{(\zeta - \theta)^2}{2\left(\frac{\lambda}{k} + 1\right)} \left( \int_0^1 \left( 1 - (1 - \mu)^{\frac{\lambda}{k} + 1} - \mu^{\frac{\lambda}{k} + 1} \right) \right)^{1 - \frac{1}{h}} \\ & \quad \times \left( \int_0^1 \left( 1 - (1 - \mu)^{\frac{\lambda}{k} + 1} - \mu^{\frac{\lambda}{k} + 1} \right) |\Psi''(\mu\theta + (1 - \mu)\zeta)|^h \right)^{\frac{1}{h}}, \end{aligned} \tag{3.4}$$

this implies that

$$\begin{aligned} & \left| \frac{\Psi(\theta) + \Psi(\zeta)}{2} - \frac{\Gamma_k(\lambda + k)}{2(\zeta - \theta)^{\frac{\lambda}{k}}} \left[ I_{\theta^+, k}^\lambda \Psi(\zeta) + I_{\zeta^-, k}^\lambda \Psi(\theta) \right] \right| \\ & \leq \frac{(\zeta - \theta)^2}{2\left(\frac{\lambda}{k} + 1\right)} \left( \int_0^1 \left( 1 - (1 - \mu)^{\frac{\lambda}{k} + 1} - \mu^{\frac{\lambda}{k} + 1} \right) \right)^{1 - \frac{1}{h}} \\ & \quad \times \left( \int_0^1 \left( 1 - (1 - \mu)^{\frac{\lambda}{k} + 1} - \mu^{\frac{\lambda}{k} + 1} \right) \left[ \mu|\Psi''(\theta)|^h + m(1 - \mu)|\Psi''(\frac{\zeta}{m})|^h \right] \right)^{\frac{1}{h}} \\ & \leq \frac{(\zeta - \theta)^2}{2\left(\frac{\lambda}{k} + 1\right)} \left( \frac{\frac{\lambda}{k}}{\frac{\lambda}{k} + 2} \right)^{1 - \frac{1}{h}} \left( |\Psi''(\theta)|^h \left( \int_0^1 \mu - (1 - 1 + \mu)(1 - \mu)^{\frac{\lambda}{k} + 1} - \mu^{\frac{\lambda}{k} + 2} \right) d\mu \right. \\ & \quad \left. \times m|\Psi''(\frac{\zeta}{m})|^h \left( \int_0^1 (1 - \mu) - (1 - \mu)^{\frac{\lambda}{k} + 2} - (1 - \mu)\mu^{\frac{\lambda}{k} + 1} \right) d\mu \right)^{\frac{1}{h}} \\ & \leq \frac{(\zeta - \theta)^2}{2\left(\frac{\lambda}{k} + 1\right)} \left( \frac{\frac{\lambda}{k}}{\frac{\lambda}{k} + 2} \right)^{1 - \frac{1}{h}} \left( |\Psi''(\theta)|^h \left( \frac{1}{2} + \frac{1}{\frac{\lambda}{k} + 3} - \frac{1}{\frac{\lambda}{k} + 2} - \frac{1}{\frac{\lambda}{k} + 3} \right) \right. \\ & \quad \left. \times m|\Psi''(\frac{\zeta}{m})|^h \left( \frac{1}{2} + \frac{1}{\frac{\lambda}{k} + 3} - \frac{1}{\frac{\lambda}{k} + 2} - \frac{1}{\frac{\lambda}{k} + 3} \right) \right)^{\frac{1}{h}} \\ & = \frac{\frac{\lambda}{k}(\zeta - \theta)^2}{2\left(\frac{\lambda}{k} + 1\right)\left(\frac{\lambda}{k} + 2\right)} \left( \frac{|\Psi''(\theta)|^h + m|\Psi''(\frac{\zeta}{m})|^h}{2} \right)^{\frac{1}{h}}, \end{aligned}$$

which completes the proof for this case. □

**Theorem 3.2.** *With the same conditions of Theorem 3.1, then*

$$\begin{aligned} & \left| \frac{\Psi(\theta) + \Psi(\zeta)}{2} - \frac{\Gamma_k(\lambda + k)}{2(\zeta - \theta)^{\frac{\lambda}{k}}} \left[ I_{\theta^+, k}^\lambda \Psi(\zeta) + I_{\zeta^-, k}^\lambda \Psi(\theta) \right] \right| \\ & \leq \frac{(\zeta - \theta)^2}{2\left(\frac{\lambda}{k} + 1\right)} \left( 1 - \frac{2}{g\left(\frac{\lambda}{k} + 1\right) + 1} \right)^{\frac{1}{g}} \left[ \frac{|\Psi''(\theta)|^h + |\Psi''(\zeta)|^h}{2} \right]^{\frac{1}{h}}, \end{aligned}$$

where  $\frac{1}{g} + \frac{1}{h} = 1$

*Proof.* By using the Holder's inequality and from Lemma 2.2, we obtain

$$\begin{aligned} & \left| \frac{\Psi(\theta) + \Psi(\zeta)}{2} - \frac{\Gamma_k(\lambda + k)}{2(\zeta - \theta)^{\frac{\lambda}{k}}} \left[ I_{\theta^+, k}^\lambda \Psi(\zeta) + I_{\zeta^-, k}^\lambda \Psi(\theta) \right] \right| \\ & \leq \frac{(\zeta - \theta)^2}{2} \int_0^1 \frac{1 - (1 - \mu)^{\frac{\lambda}{k} + 1} - \mu^{\frac{\lambda}{k} + 1}}{\frac{\lambda}{k} + 1} |\Psi''(\mu\theta + (1 - \mu)\zeta)| d\mu \\ & \leq \frac{(\zeta - \theta)^2}{2\left(\frac{\lambda}{k} + 1\right)} \left( \int_0^1 \left( 1 - (1 - \mu)^{\frac{\lambda}{k} + 1} - \mu^{\frac{\lambda}{k} + 1} \right)^g d\mu \right)^{\frac{1}{g}} \left( |\Psi''(\mu\theta + (1 - \mu)\zeta)|^h d\mu \right)^{\frac{1}{h}} \\ & = \frac{(\zeta - \theta)^2}{2\left(\frac{\lambda}{k} + 1\right)} \left( \int_0^1 \left( 1 - (1 - \mu)^{g\left(\frac{\lambda}{k} + 1\right)} - \mu^{g\left(\frac{\lambda}{k} + 1\right)} \right) d\mu \right)^{\frac{1}{g}} \\ & \quad \times \left( |\Psi''(\theta)|^h \int_0^1 \mu d\mu + m |\Psi''\left(\frac{\zeta}{m}\right)|^h \int_0^1 (1 - \mu) d\mu \right)^{\frac{1}{h}} \\ & = \frac{(\zeta - \theta)^2}{2\left(\frac{\lambda}{k} + 1\right)} \left( \mu|_0^1 + \frac{(1 - \mu)^{g\left(\frac{\lambda}{k} + 1\right) + 1}}{g\left(\frac{\lambda}{k} + 1\right) + 1} - \frac{\mu^{g\left(\frac{\lambda}{k} + 1\right) + 1}}{g\left(\frac{\lambda}{k} + 1\right) + 1} \right)^{\frac{1}{g}} \\ & \quad \times \left( |\Psi''(\theta)|^h \frac{\mu^2}{2} \Big|_0^1 - m |\Psi''\left(\frac{\zeta}{m}\right)|^h \frac{(1 - \mu)^2}{2} \right)^{\frac{1}{h}} \\ & = \frac{(\zeta - \theta)^2}{2\left(\frac{\lambda}{k} + 1\right)} \left( 1 - \frac{1}{g\left(\frac{\lambda}{k} + 1\right) + 1} - \frac{1}{g\left(\frac{\lambda}{k} + 1\right) + 1} \right)^{\frac{1}{g}} \left( \frac{|\Psi''(\theta)|^h + m |\Psi''\left(\frac{\zeta}{m}\right)|^h}{2} \right)^{\frac{1}{h}} \\ & = \frac{(\zeta - \theta)^2}{2\left(\frac{\lambda}{k} + 1\right)} \left( 1 - \frac{2}{g\left(\frac{\lambda}{k} + 1\right) + 1} \right)^{\frac{1}{g}} \left( \frac{|\Psi''(\theta)|^h + m |\Psi''\left(\frac{\zeta}{m}\right)|^h}{2} \right)^{\frac{1}{h}}. \end{aligned}$$

Here we use

$$\left( 1 - (1 - \mu)^{\frac{\lambda}{k} + 1} - \mu^{\frac{\lambda}{k} + 1} \right)^h \leq 1 - (1 - \mu)^{h\left(\frac{\lambda}{k} + 1\right)} - \mu^{h\left(\frac{\lambda}{k} + 1\right)},$$

for any  $\mu \in [0, 1]$ , which follows from  $(C - D)^h \leq C^h - D^h$ , for any  $C > D \geq 0$  and  $h \geq 1$ . Hence proved.  $\square$

#### 4. HERMITE-HADAMARD-TYPE INEQUALITIES FOR $(s, m)$ -CONVEX FUNCTIONS

**Lemma 4.1.** Let  $k > 0$ ,  $I_{\theta^+, k}^\lambda \Psi$  and  $I_{\zeta^-, k}^\lambda \Psi$  be defined in Definition 2.1. Let  $\Psi : [\theta, \zeta] \rightarrow \mathbb{R}$  be twice differentiable function on  $(\theta, \zeta)$  with  $\theta < m\zeta \leq \zeta$ . If



$\Psi'' \in L^1[\theta, \zeta]$ , then

$$\begin{aligned} & \frac{\Psi(\theta) + \Psi(m\zeta)}{2} - \frac{\Gamma_k(\lambda + k)}{2(m\zeta - \theta)^{\frac{\lambda}{k}}} \left[ I_{\theta^+, k}^\lambda \Psi(m\zeta) + I_{m\zeta^-, k}^\lambda \Psi(\theta) \right] \\ &= \frac{(m\zeta - \theta)^2}{2} \int_0^1 \frac{1 - (1 - \mu)^{\frac{\lambda}{k} + 1} - \mu^{\frac{\lambda}{k} + 1}}{\frac{\lambda}{k} + 1} \Psi''(\mu\theta + m(1 - \mu)\zeta) d\mu. \end{aligned} \quad (4.1)$$

This is just Lemma 2.2 on the interval  $[\theta, m\zeta] \subset [\theta, \zeta]$ .

**Theorem 4.2.** Let  $k > 0$ ,  $I_{\theta^+, k}^\lambda \Psi$  and  $I_{\zeta^-, k}^\lambda \Psi$  be defined in the Definition 2.1. Let  $\Psi : [\theta, \zeta] \rightarrow \mathbb{R}$  be a twice differentiable function with  $\theta < \zeta$ . If  $|\Psi''|^h$  is measurable and  $(s, m)$ -convex on  $[\theta, \zeta]$  for some fixed  $h \geq 1$  and  $(s, m) \in (0, 1]^2$ , then

$$\begin{aligned} & \left| \frac{\Psi(\theta) + \Psi(m\zeta)}{2} - \frac{\Gamma_k(\lambda + k)}{2(m\zeta - \theta)^{\frac{\lambda}{k}}} \left[ I_{\theta^+, k}^\lambda \Psi(m\zeta) + I_{m\zeta^-, k}^\lambda \Psi(\theta) \right] \right| \\ & \leq \frac{(m\zeta - \theta)^2}{2 \left( \frac{\lambda}{k} + 1 \right)} \left( 1 - \frac{2}{g \left( \frac{\lambda}{k} + 1 \right) + 1} \right)^{\frac{1}{g}} \left( |\Psi''(\theta)|^h \frac{1}{s+1} + |\Psi''(\zeta)|^h \frac{s}{s+1} \right)^{\frac{1}{h}}, \end{aligned}$$

where  $\frac{1}{g} + \frac{1}{h} = 1$ .

*Proof.* By using the Holder's inequality and Lemma 4.1, we get

$$\begin{aligned} & \left| \frac{\Psi(\theta) + \Psi(m\zeta)}{2} - \frac{\Gamma_k(\lambda + k)}{2(m\zeta - \theta)^{\frac{\lambda}{k}}} \left[ I_{\theta^+, k}^\lambda \Psi(m\zeta) + I_{m\zeta^-, k}^\lambda \Psi(\theta) \right] \right| \\ & \leq \frac{(m\zeta - \theta)^2}{2} \int_0^1 \frac{1 - (1 - \mu)^{\frac{\lambda}{k} + 1} - \mu^{\frac{\lambda}{k} + 1}}{\frac{\lambda}{k} + 1} |\Psi''(\mu\theta + m(1 - \mu)\zeta)| d\mu \\ & \leq \frac{(m\zeta - \theta)^2}{2 \left( \frac{\lambda}{k} + 1 \right)} \left( \int_0^1 \left( 1 - (1 - \mu)^{\frac{\lambda}{k} + 1} - \mu^{\frac{\lambda}{k} + 1} \right)^g d\mu \right)^{\frac{1}{g}} \left( \int_0^1 |\Psi''(\mu\theta + m(1 - \mu)\zeta)|^h d\mu \right)^{\frac{1}{h}} \\ & \leq \frac{(m\zeta - \theta)^2}{2 \left( \frac{\lambda}{k} + 1 \right)} \left( \int_0^1 \left( 1 - (1 - \mu)^{g \left( \frac{\lambda}{k} + 1 \right)} - \mu^{g \left( \frac{\lambda}{k} + 1 \right)} \right) d\mu \right)^{\frac{1}{g}} \\ & \quad \times \left( |\Psi''(\theta)|^h \int_0^1 \mu^s d\mu + m |\Psi''(\zeta)|^h \int_0^1 (1 - \mu^s) d\mu \right)^{\frac{1}{h}} \\ & \leq \frac{(m\zeta - \theta)^2}{2 \left( \frac{\lambda}{k} + 1 \right)} \left( \mu|_0^1 + \frac{(1 - \mu)^{g \left( \frac{\lambda}{k} + 1 \right) + 1}}{g \left( \frac{\lambda}{k} + 1 \right) + 1} \Big|_0^1 - \frac{(1 - \mu)^{g \left( \frac{\lambda}{k} + 1 \right) + 1}}{g \left( \frac{\lambda}{k} + 1 \right) + 1} \Big|_0^1 \right)^{\frac{1}{g}} \\ & \quad \times \left( |\Psi''(\theta)|^h \frac{\mu^s}{s+1} \Big|_0^1 + m |\Psi''(\zeta)|^h \left( \mu|_0^1 - \frac{\mu^s}{s+1} \Big|_0^1 \right) \right)^{\frac{1}{h}} \\ & \leq \frac{(m\zeta - \theta)^2}{2 \left( \frac{\lambda}{k} + 1 \right)} \left( 1 - \frac{2}{g \left( \frac{\lambda}{k} + 1 \right) + 1} \right)^{\frac{1}{g}} \left( |\Psi''(\theta)|^h \frac{1}{s+1} + m |\Psi''(\zeta)|^h \frac{s}{s+1} \right)^{\frac{1}{h}}. \end{aligned}$$

The proof is completed.  $\square$

**Theorem 4.3.** *With the same condition of Theorem 4.2, then*

$$\begin{aligned} & \left| \frac{\Psi(\theta) + \Psi(m\zeta)}{2} - \frac{\Gamma_k(\lambda + k)}{2(m\zeta - \theta)^{\frac{\lambda}{k}}} \left[ I_{\theta^+, k}^\lambda \Psi(m\zeta) + I_{m\zeta^-, k}^\lambda \Psi(\theta) \right] \right| \\ & \leq \frac{(m\zeta - \theta)^2}{2\left(\frac{\lambda}{k} + 1\right)} \left[ |\Psi''(\theta)|^h \left( \frac{1}{s+1} - \beta(s+1, h\left(\frac{\lambda}{k} + 1\right) + 1) - \frac{1}{h\left(\frac{\lambda}{k} + 1\right) + s + 1} \right) \right. \\ & \quad \left. + m|\Psi''(\zeta)|^h \left( 1 - \frac{1}{s+1} - \frac{2}{h\left(\frac{\lambda}{k} + 1\right) + 1} + \beta(s+1, h\left(\frac{\lambda}{k} + 1\right) + 1) + \frac{1}{h\left(\frac{\lambda}{k} + 1\right) + s + 1} \right) \right]^{\frac{1}{h}}. \end{aligned}$$

*Proof.* Using the Holder's inequality and from Lemma 4.1, we obtain

$$\begin{aligned} & \left| \frac{\Psi(\theta) + \Psi(m\zeta)}{2} - \frac{\Gamma_k(\lambda + k)}{2(m\zeta - \theta)^{\frac{\lambda}{k}}} \left[ I_{\theta^+, k}^\lambda \Psi(m\zeta) + I_{m\zeta^-, k}^\lambda \Psi(\theta) \right] \right| \\ & \leq \frac{(m\zeta - \theta)^2}{2} \int_0^1 \frac{1 - (1 - \mu)^{\frac{\lambda}{k} + 1} - \mu^{\frac{\lambda}{k} + 1}}{\frac{\lambda}{k} + 1} |\Psi''(\mu\theta + m(1 - \mu)\zeta)| d\mu \\ & \leq \frac{(m\zeta - \theta)^2}{2\left(\frac{\lambda}{k} + 1\right)} \left( \int_0^1 1 d\mu \right)^{\frac{1}{g}} \left( \int_0^1 \left( 1 - (1 - \mu)^{\frac{\lambda}{k} + 1} - \mu^{\frac{\lambda}{k} + 1} \right)^h |\Psi''(\mu\theta + m(1 - \mu)\zeta)|^h d\mu \right)^{\frac{1}{h}} \\ & \leq \frac{(m\zeta - \theta)^2}{2\left(\frac{\lambda}{k} + 1\right)} \left( |\Psi''(\theta)|^h \int_0^1 \left[ \mu^s - (1 - \mu)^{h\left(\frac{\lambda}{k} + 1\right)} \mu^{s - \frac{\lambda}{k} + 1 + s} \right] d\mu \right. \\ & \quad \left. + m|\Psi''(\zeta)|^h \int_0^1 \left[ (1 - \mu^s) - (1 - \mu)^{h\left(\frac{\lambda}{k} + 1\right)} (1 - \mu^s) - \mu^{h\left(\frac{\lambda}{k} + 1\right)} (1 - \mu^s) \right] d\mu \right)^{\frac{1}{h}} \\ & = \frac{(m\zeta - \theta)^2}{2\left(\frac{\lambda}{k} + 1\right)} \left[ |\Psi''(\theta)|^h \left( \frac{1}{s+1} - \beta(s+1, h\left(\frac{\lambda}{k} + 1\right) + 1) - \frac{1}{h\left(\frac{\lambda}{k} + 1\right) + s + 1} \right) \right. \\ & \quad \left. + m|\Psi''(\zeta)|^h \left( 1 - \frac{1}{s+1} - \frac{2}{h\left(\frac{\lambda}{k} + 1\right) + 1} + \beta(s+1, h\left(\frac{\lambda}{k} + 1\right) + 1) + \frac{1}{h\left(\frac{\lambda}{k} + 1\right) + s + 1} \right) \right]^{\frac{1}{h}}, \end{aligned}$$

which is required result.  $\square$

**Corollary 4.4.** *In Theorem 4.3, by taking  $s = m = 1$  and  $k = 1$ , we get the result proved in [13].*

#### REFERENCES

- [1] M. K. Bakula, J. Pečrić, M. E. Ödemir, *Hadamard type inequalities for  $m$ -convex and  $(\alpha, m)$ -convex functions*, J. Inequal. Pure Appl. Math. 9, (2008), pp. 1-9, Article 96.
- [2] Z. Dahmani, S. Belarbi, *On some new fractional integral inequalities*, J. Ineq. Pure Appl. Math. 10(3), (2009), Art. 86.
- [3] J. Deng, J. Wang, *Fractional Hermite-Hadamard inequalities for  $(\alpha, m)$ -logarithmically convex functions*, J. Inequal. Appl. **2013**, 364. Doi: 1186/1029-242X-2013-364.
- [4] A. R. Didonato, M. P. Jarnagin, *The efficient calculation of the incomplete beta-function ratio for half-integer values of the parameters*. Math. Comput., **21**, 652-662, (1967).
- [5] S. Iqbal, M. Aamir and M. Samraiz, *Some new Hermite-Hadamard inequalities involving  $k$ -fractional Calculus*, Submitted (2019).

- [6] A. M. Killbas, H. M. Srivastava, J. J. Trujillo, *Theory and Applications of Fractional Differential Equations*. Elsevier, Amsterdam (2006)
- [7] U. S. Kirmaci, M. Bakula, M. Ozdemir and J. Pečarić, *Hadamard-type inequalities for  $s$ -convex functions*, Appl. Math. Comput., Vol: 193, (2007). pp. 26-35, Doi:10.1016/j.amc.(2007).03.030.
- [8] Y. Liao, J. Deng, J. Wang, *Riemann-Liouville fractional Hermite-Hadamard inequalities, part II, for twice differentiable geometric-arithmetically  $s$ -convex functions*. J. Inequal. Appl. **2013**.
- [9] M. E. Ödemir, M. Avci and E. Set, *On some inequalities of Hermite-Hadamard-type via  $m$ -convexity*, Appl. Math. Lett. 23 (2010), pp. 1065-1070.
- [10] M. E. Ödemir, M. Avci and H. Kavurmaci, *Hermite-Hadamard-type inequalities via  $(\alpha, m)$ -convexity*, Comput. Math. Appl. 61 (2011), pp. 2614-2620.
- [11] M. E. Ödemir, E. Set, M. Z. Sarikaya, *Some new Hadamard,  $s$  type inequalities for co-ordinated  $m$ -convex and  $(\alpha, m)$ -convex functions*. Hacettepe J. Math. Stat. 40 (2011), pp. 219-229.
- [12] J. Pečarić, F. Proschan and Y. L. Tong, *Convex Functions, Partial Orderings and Statistical Application*. (1992). Acadmic Press Inc.
- [13] M. Z. Sarikaya, E. Set, H. Yaldiz, N. Basak, *Hermite-Hadamard inequalities for fractional integrals and related fractional inequalities*. Math. Comput. Model. **57**, (9), (2013), 2403-2407.
- [14] M. Z. Sarikaya, H. Ogunmez, *On new inequalities via Riemann-liouville fractional integration*, arXiv:1005.1167v1 Submitted for publication.
- [15] M. Z. Sarikaya, Y. Hüseyin, *On Hermite-Hadamard type inequalities for Riemann-Liouville fractional integrals*. Miskolc Mathematical Notes Vol: 17 (2017), No. 2, pp. 1049-1059.
- [16] E. Set, M. O. Ozdemir, S. S. Dragomir, *On the Hermite-Hadamard inequality and other integral inequalities involving two functions*. Journal of Inequalities and Applications, Vol: Article ID 148102, p. 9. 2010, Doi: 10.1155/2010/148102.
- [17] E. Set, M. O. Ozdemir, S. S. Dragomir, *On the Hadamard-type of inequalities involving several kinds of convexity*. Journal of Inequalities and Applications, Vol: Article ID 286845, p. 12. 2010, Doi: 10.1155/2010/286845.
- [18] J. Wang, X. Li, M. Fečkan and Y. Zhou, *Hermite-Hadamard-type inequalities for Riemann-Liouville fractional integrals via two kinds of convexity*. Appl. Anal. (2012), Doi:10.1080/00036811.2012.727986
- [19] Y. Zhang, J. Wang, *On some new Hermite-Hadamard inequalities involving Riemann-Liouville fractional integrals*. J. Inequal. Appl. **2013**, 220.

SAJID IQBAL

DEPARTMENT OF MATHEMATICS, UNIVERSITY OF MANAGEMENT AND TECHNOLOGY, SIALKOT CAMPUS SIALKOT, PUNJAB, 51310, PAKISTAN

*E-mail address:* sajid.uos2000@yahoo.com; sajidiqbal@skt.umt.edu.pk

MUHAMMAD AAMIR

DEPARTMENT OF MATHEMATICS, UNIVERSITY OF SARGODHA (SUB-CAMPUS BHAKKAR), BHAKKAR, PAKISTAN

*E-mail address:* aamirrajput315@gmail.com

MUHAMMAD SAMRAIZ

DEPARTMENT OF MATHEMATICS, UNIVERSITY OF SARGODHA, SARGODHA, PAKISTAN

*E-mail address:* msamraiz@uos.edu.pk; msamraizuos@gmail.com

ARTION KASHURI

DEPARTMENT OF MATHEMATICS, FACULTY OF TECHNICAL SCIENCE, UNIVERSITY ISMAIL QEMALI, VLORA, ALBANIA

*E-mail address:* artionkashuri@gmail.com

MUHAMMAD ASIF

DEPARTMENT OF MATHEMATICS, UNIVERSITY OF MANAGEMENT AND TECHNOLOGY, SIALKOT CAMPUS SIALKOT, PUNJAB, 51310, PAKISTAN

*E-mail address:* muhammadasif@skt.umt.edu.pk